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Section A

1. Find the complex conjugate of 

Watch Video Solution

(3 + 4i)(2 − 3i)

2. If  then find Arg 

Watch Video Solution

z1 = − 1, and z2 = − i, (z1z2)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Z6bQOwJPosxi
https://dl.doubtnut.com/l/_Fhfib2VltGnZ


3. Find the values of the following : 

Watch Video Solution
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4. If  are the roots of the equation , find

the values of the following expressions in terms of a,b,c. 

Watch Video Solution

α, β ax2 + bx + c = 0

+
1

α

1

β

5. If the product of the roots of 

 is 9 , then find a .4x3 + 16x2 − 9x − a = 0

https://dl.doubtnut.com/l/_Fhfib2VltGnZ
https://dl.doubtnut.com/l/_jPOiVQxdipj2
https://dl.doubtnut.com/l/_cHsNTbmCyVDF
https://dl.doubtnut.com/l/_fjdD8UHyw0rv


Watch Video Solution

6. Find the number of ways of arranging the letters of the

word. 

PERMUTATION

Watch Video Solution

7. If  find n.

Watch Video Solution

10. nC2 = 3. n + 1C3

8. Find the set of values of x for which the binomial expansion

 is valid.

Watch Video Solution

(3 − 4x)3 / 4

https://dl.doubtnut.com/l/_fjdD8UHyw0rv
https://dl.doubtnut.com/l/_YvtWuKiP8eji
https://dl.doubtnut.com/l/_OYptzZBgR5s4
https://dl.doubtnut.com/l/_Hn9EheT4AhdI


Section B

9. Find the mean deviation from the mean of the data

6,7,10,4,12,13,12,16.

Watch Video Solution

10. The probability that a person chosen at random is left

handed (in hand writing) is 0.1 what is the probability that in a

group of ten people there is one and only one who is left

handed.

Watch Video Solution

https://dl.doubtnut.com/l/_Hn9EheT4AhdI
https://dl.doubtnut.com/l/_JeO30k05u7jv
https://dl.doubtnut.com/l/_hPld6z8y93u5
https://dl.doubtnut.com/l/_w8jAHb4xiUNx


1. Show that the points in the Argand plane represented by

the complex numbers

 are the vertices of a

rhombus.

Watch Video Solution

−2 + 7i, − + + i4 − 3i (1 + i)
3
2

1
2

7
2

2. Prove that  does not

lie between 1 and 4, if x is real.

Watch Video Solution

+ −
1

3x + 1

1

x + 1

1

(3x + 1)(x + 1)

3. If the letters of the word EAMCET are permuted in all

possible ways and if the words thus formed are arranged in

the dictionary order, find the rank of the word EAMCET.

W h Vid S l i

https://dl.doubtnut.com/l/_w8jAHb4xiUNx
https://dl.doubtnut.com/l/_bQ6t3EOQONXY
https://dl.doubtnut.com/l/_E1GJFWCLNIHO


Watch Video Solution

4. Simplify .

Watch Video Solution

34C5 +
4
Σ

r= 0

( 38 − r ) C4

5. Resolve the  into partial fractions.

Watch Video Solution

2x2 + 3x + 4

(x − 1)(x2 + 2)

6. If two numbers are selected randomly from 20 consecutive

natural numbers, find the probability that the sum of the two

numbers is (i) an even number (ii) an odd number.

Watch Video Solution

https://dl.doubtnut.com/l/_E1GJFWCLNIHO
https://dl.doubtnut.com/l/_smkgdyw5OLyI
https://dl.doubtnut.com/l/_D76EOmnZR9iu
https://dl.doubtnut.com/l/_1c8dN0R7ObMQ


Section C

1. If A, B are independent events with P (A) =0.2, P (B) = 0.5 Find

Watch Video Solution

P( )
A

B

2. If A, B are independent events with P (A) =0.2, P (B) = 0.5 Find

Watch Video Solution

P( )
B

A

3. If A, B are independent events with P (A) =0.2, P (B) = 0.5 Find

Watch Video Solution

P (A ∩ B)

https://dl.doubtnut.com/l/_tAizSKUmOsy3
https://dl.doubtnut.com/l/_bo5w3Er9PIzL
https://dl.doubtnut.com/l/_e3qyV50oyLpR


4. If A, B are independent events with P (A) =0.2, P (B) = 0.5 Find

Watch Video Solution

P (A ∪ B)

5. If  , Prove

that 

.

Watch Video Solution

cos α + cos β + cos γ = 0 sin α + sin β + sin γ

cos2 α + cos2 β + cos2 γ = = sin2 α + sin2 β + sin2 γ
3

2

6. Solve  given that the

product of two of the roots is 6.

Watch Video Solution

x4 + x3 − 16x2 − 4x + 48 = 0

https://dl.doubtnut.com/l/_e3qyV50oyLpR
https://dl.doubtnut.com/l/_NUk5OOef0mxa
https://dl.doubtnut.com/l/_U302Nl7044Wi
https://dl.doubtnut.com/l/_2LQTSOYgANZ8


7. If the coefficients of  and  terms in

the expansion of  are in A.P. then show that 

Watch Video Solution

rth, (r + 1)th (r + 2)nd

(1 + x)n

n2 − (4r + 1)n + 4r2 − 2 = 0.

8. If  


then find the value of 

Watch Video Solution

x = + + + ….
5

(2!).3

5.7

(3!).32

5.7.9

(4!).33

x2 + 4x.

9. Find the mean deviation about the mean for the following

data. 

https://dl.doubtnut.com/l/_2LQTSOYgANZ8
https://dl.doubtnut.com/l/_oLRT6YTl23M3
https://dl.doubtnut.com/l/_RnsBEdOnDAwv
https://dl.doubtnut.com/l/_1R2xzWH4VruD


Watch Video Solution

10. State and prove addition theorem on probability.

Watch Video Solution

11. The range of a random variable X is {0, 1, 2}. Given that 

find the value of c

Watch Video Solution

P (X = 0) = 3c3, P (X = 1) = 4c − 10c2, P (X = 2) = 5c − 1.

https://dl.doubtnut.com/l/_1R2xzWH4VruD
https://dl.doubtnut.com/l/_5ZAmnLW3YPUK
https://dl.doubtnut.com/l/_NitfWv92ol9n


12. The range of a random variable X is {0, 1, 2}. Given that 

find the value of c

Watch Video Solution

P (X = 0) = 3c3, P (X = 1) = 4c − 10c2, P (X = 2) = 5c − 1.

13. The range of a random variable X is . Given that 

i) Find the value of c 

ii) 

Watch Video Solution

{0, 1, 2}

P (X = 0) = 3c3, P (X = 1) = 4c − 10c2, P (X = 2) = 5c − 1

P (X < 1), P (1 < X ≤ 2)  and P (0 < X ≤ 3)

14. The range of a random variable X is {0, 1, 2}. Given that

P (X = 0) = 3c3, P (X = 1) = 4c − 10c2, P (X = 2) = 5c − 1

https://dl.doubtnut.com/l/_O5OI4zC1ZxNp
https://dl.doubtnut.com/l/_Yjm2rgej7cKu
https://dl.doubtnut.com/l/_Gx8nNBukKQKh


where c is constant. 

Find (i) the value of c (ii)  


(iii)  (iv) 

Watch Video Solution

P (X < 1)

P (1 < X ≤ 2) P (0 < X ≤ 3)

https://dl.doubtnut.com/l/_Gx8nNBukKQKh

